	Approximation
	max error
	mean error
	max error old
	mean error old

	  Projection
	
	
	
	

	Truth
	0.0010
	7.6790e-005
	0.0068
	9.2400e-005

	  First-order
	
	
	
	

	Regular
	1.3693
	0.4440
	6.0191
	0.6529

	Regular with correction term
	1.0901
	0.2150
	5.7399
	0.3738

	Time iteration, one period ahead
	0.9785
	0.2209
	3.2306
	0.3304

	Time iteration, one period ahead with correction term
	0.8412
	0.1244
	2.9579
	0.1995

	Time iteration, two periods ahead
	0.6461
	0.1109
	1.8113
	0.1683

	Time iteration, two periods ahead with correction term
	0.5356
	0.0652
	1.5702
	0.1026

	Fixed point iteration
	0.2436
	0.1171
	0.4646
	0.1445

	Fixed point iteration with correction term
	0.1440
	0.0604
	0.2744
	0.0724

	  Second-order
	
	
	
	

	Regular
	∞
	∞
	∞
	∞

	Pruning
	1.2737
	0.1215
	2.7775
	0.1774


Table 1: accuracy based on T = 10000 periods and error = min ( | ( at - attruth ) / attruth | , | ( at - attruth ) / ( Σ attruth / T ) | ) and error old = | at - attruth | / ( Σ attruth / T ) and the seed is 11051981

	Approximation
	mean assets
	std. dev. assets
	min assets
	max assets

	  Projection
	
	
	
	

	Truth
	0.0847
	0.0977
	-0.0941
	0.8477

	  First-order
	
	
	
	

	Regular
	0.0294
	0.0698
	-0.1844
	0.3441

	Regular with correction term
	0.0530
	0.0698
	-0.1607
	0.3677

	Time iteration, one period ahead
	0.0567
	0.0799
	-0.1007
	0.5828

	Time iteration, one period ahead with correction term
	0.0678
	0.0838
	-0.0978
	0.6053

	Time iteration, two periods ahead
	0.0705
	0.0880
	-0.0969
	0.7098

	Time iteration, two periods ahead with correction term
	0.0760
	0.0908
	-0.0957
	0.7282

	Fixed point iteration
	0.0725
	0.0964
	-0.0947
	0.8083

	Fixed point iteration with correction term
	0.0800
	0.1000
	-0.0932
	0.8281

	  Second-order
	
	
	
	

	Regular
	∞
	∞
	-0.0409
	∞

	Pruning
	0.0794
	0.0824
	-0.0426
	0.8288


Table 2: descriptive statistics based on T = 10000 periods and the seed is 11051981
THE TABLE BELOW IS BASED ON A NON-EXPLOSIVE SEED

	Approximation
	max error
	mean error
	max error old
	mean error old

	  First-order
	
	
	
	

	Regular
	
	
	5.2925
	0.6488

	Regular with correction term
	
	
	5.0159
	0.3723

	Time iteration, one period ahead
	
	
	2.8572
	0.3291

	Time iteration, one period ahead with correction term
	
	
	2.5927
	0.1987

	Time iteration, two periods ahead
	
	
	1.5081
	0.1676

	Time iteration, two periods ahead with correction term
	
	
	1.2816
	0.1021

	Fixed point iteration
	
	
	0.3044
	0.1431

	Fixed point iteration with correction term
	
	
	0.2777
	0.0722

	  Second-order
	
	
	
	

	Regular
	
	
	7.9726
	0.1107

	Pruning
	
	
	2.1637
	0.1762


Table 3: accuracy based on T = 10000 periods and error = min ( | ( at - attruth ) / attruth | , | ( at - attruth ) / ( Σ attruth / T ) | ) and error old = | at - attruth | / ( Σ attruth / T ) and the seed is 15012010
